5 I

U.Sll g.p.m. .|4- | |E. | |8‘ | 1|D | %D | .:?:‘D | ql-[} | E?‘D | E|.[}| F;'Dl
adm.gay WO, @ o, 8 .18 . G Tl Ol
-8
C22E o B
C 22/1E L
C 20E m————u | Ap
C16ME -20
-______—-—.________
- (
Q m~h 1 2 3 4 5 10 15 18

10 I/min 20 30 40 50 100 200 300

TE&R2 D



LleHTpo6e>xHble Hacochl
C OTKPbITbIM pabo4nM Konecom

XapakTepuctuyeckune Kpuebie n = 2900 06./MuH.

gOUSePm2 3 4 5 6 7 8 o 10
R
N C - 18
™NQ 64
L 17
5 20
L 16
£ 25
N - 15
T X
SN 28 14
4 T~ 30 15
™~ 1 31% |
> - 12
L 11
- 10
0qm¥h 05 1 1.5 2 25
0 Umin 10 20 30 40
} L L - L } L L } L L } L L } L L } L L
o s 01 0.2 0.3 0.4 0.5 0.6
0.1
B — o1
o e [
—
0.05 - = i
_——1
0 0
0Qmeh 05 1 1.5 2 721% 55
25o US g.p.m. 10 20 L. 30
[TTTTTT[}80
[T 1C220 1195 int
R ?,’5**40 C 22/1 T 70
20 B T4 ‘ -
| | T~ 11 46 \
C 221 Q116 5 T Jolar [ 60
v gl |46
IS 7777777777777747:¥\<L7L7§\J<7'44777777
T 15 < . - 50
\\{ I’ 40 [
o, |1 N 351
M 49% AN / N |40
1N /
< B
10 , %
N
\ |
L 20
5
0myh 1 2 3 4 5 6 7
L LN S, L. L. I
o Is 0.5 1 15 1.9
0.7
} 0.9
0.6 _&32 0.8
—111}07
205 L C %A
o ——— E——— 0.6
0.4 =
I [ -0.5
03 T [ 0.4
02 0.3
4 [ 12
E 4 L 10
5 [ 8
T
g 2 e 6
1 I [ 4
L 2
0 0
0Qmeh 1 2 3 4 5 of G 1

H ft

P HP

P HP

NPSH ft

176

oUS.gpm. 5 10 15 20
* | | [TT]
14 —
c20 |,
13
0955 40 el
i | ¥ 40
E TN 54
T » 1 56%
D [ 35
N | 54
10
N
N
9 30
8
0 Q m3h 1 2 3 4 5
0\ I\/min\ L 2\0 L 3\0 L 4\0 L 50 L 6\0 L 7\0 L 8\0
o IIs g2 0.4 0.6 0.8 1 1.2
0.3 0.4
L L 1— }os
202 e -
=~ -
o |t 0.2
01 T
0.1
0 0
4
. [ 12
T3 10
7] T8
g 2 — L 6
; [ 4
[ 2
0 Q m?h 1 2 3 4 72121 g

H ft

P HP

NPSH ft



LleHTpo6e>xHble Hacochl
C OTKPbITbIM pabo4nM Konecom

XapakTepuctuyeckune Kpuebie n = 2900 06./MuH.

0 US.gpm. 20 30 40 50 60 70 0 US.gpm. 20 30 40 50 60 70
[ [ ] L 70 \ L] L 70
2 - 2 -
0 C 4/1 0 Q 117 55| 601 . C 4
7
L 60 7~ 8 60
I~ 1 72%
|| 2108 | | 55 ¢ .
15 \YI‘I 1 65% - 50 15 4 70 - 50
£ . - £ N =
65 I I
™ - 40 L 40
™N 60
10 X\ 10
N\_/55 L 30 L 30
N\
L 20 L 20
5 5
0 A m¥%h 5 10 15 0 A m¥h 5 10 15
0 " Umin 50 100 150 200 250 300 0 " Vmin 50 100 150 200 250 300
o s 1 2 3 4 5 o s 1 2 3 4 5
1.0 1.0
1.2 1.2
0.8 10 0.8 T (1.0
//
EO'G "] 0.8 % EO.G | 0.8 %
o — 0.6 0 o — 0.6 0
0.4 0.4
— 0.4 0.4
0.2 (0.0 0.2 0.2
0 0 0 0
8 25 8 25
€ £
L 20 -20
% ° 15 z » ° 15 z
g 4 [~ © o 4 [ %
= A 10 2 = e 10 %
2 — -5 2 — -5
0 0 0
O Q m3/h 5 10 15 721241 O Q m3/h 5 10 15 72.124.2
0 US.gp.m. 20 30 40 50 60 70
25 ‘ ‘ ‘ ‘ ‘ ‘ ‘
1 | l || L 80
| 0124 ||
00 ca
T2 : 70
~—_159.5%
\‘
20
\\
58
€ Ny 60
T T
15 N |so
L 40
10
0 A m¥h 5 10 15
0 ™ Umin 100 . 200 . 260
o Is 1 2 3 4
1.2 L 1.6
1.4
1.0 | —T |
z — 12 o
0.8 — T
o~ I 1.0 &
"
0.6 0.8
0.4 0.6
6
£
15
5 i -
o LA 10 8
Z - E
2 o
I -5
0
0Q m¥h 5 10 2% 5

177



